SAD Hmmz I

BLLY
EHOE :M5x0.8:G1/8:-G1/4-G3/8

ZEXEREBDOHRED
KRR,

o HERIFIREF T .
o KKICHEZFERA UL TCVLWSDTRE -Zfficd . !
¢ GRUHETAULYATTT, ‘ ‘
JISEeS
{7
s
% X
SA2-M5 SA2-06 SA2-08 SA2-10
B B
¥ & O &/ M5X0.8 G1/8 G1/4 G3/8
H B B R 20dB(A) U E
REEAEN 1MPa
A %h i & 1 mm? 6 15 30 55
" £ g 1 2 3 6
RS cowmis. Teowagscoescean, | SHEETHER
SA2-(06]
| EEOE A
M5| M5X0.8 E c
06| G18 ‘ |
08| G4
08 G4 B ol -
Sy—= 10| G3/8 &
EROR
TER BAL
Tk 05| iEEOER A B © E
SA2-M5 | M5X0.8 | 23 465 19 4
SA2-06 G1/8 34 4125 28 6
SA2-08 Gi/4 425 $15.5 355 7
SA2-10 G3/8 67.5 4185 56 15

BLLIY
EHO#E:R1/8°R1/4°-R3/8

ETERIBEDOHRED
{EiRIC R

o KMEICHIlEZER LTV DD TERE Rl T,

JISEES

45"

%
# X
SA3-6 SA3-8 SA3-10
B\ B
% O # R1/8 R1/4 Ra/8
H B M R 16dB(A)LLE 20dB(A) U L
BEeEREN 0.9MPa
A %h i i i mm2 1 30 35
5" g g 4 10 17
FRECD  cimsicn. TrowmscomEdral, SRTER
SA3-]10
T EmOz A
6] Ris E..D c
8| R4 ‘ ‘
Sy—z 10| RaB

[
EHEOE )
il
i
a
[9p)
. >
FiER Bt s gn OO
L5 | EROZ| A B © D E F G
SA3-6 | R1/8 | 34 | 416 | 20 7 7 | 14 4
SA3-8 | Ri/4 | 62 | 420 | 44 8 | 10 | 168 | 5
SA3-10 | R3/8 | 67 | 426 | 44 | 11 | 12 | 22 8






